Converting Prefixes
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Example 1 Example 2
26mA=___ A 1i5MV=__ V
26 mA =26/1000 A =0.026 A 1.5 MV = (1.5 x 1000) kV = 1500 kV

1500 kV = (1500 x 1000) V =1 500 000 V
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Convert the prefixes.

1. 25mA=____A 7. 21pA=__ A
2. 12kV=___V 8. 413MV=___V
3. 442mV=___V 9. 321GV=___V
4. 250kQ=____ Q 10.1.01MQ=___ O
5. l6MA=____A 1. 013mA=____A

6. 3MQ-= Q 12. 0.05 mA = A
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0.7kV = \Y

018MQ=___Q
031TmA=___ A
34000A=___ kA
0.00130Q=___mQ
145000V=___ kV
4000000V=___ MV
0.000069A=___ mA
0.000069A=___  pA
45000Vv=___ kV
45000V=___ MV
8000000000V=___ GV
123A=___ kA

56 A= mA
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9IMV = \

5A= mA

945 A= kA

55kQ= Q

100 mA = kA

450 000 mQ = kQ

1MV = kV

1kA = mA

16.4 MV = kV

0.0045 MQ = kQ

900 kQ = MQ

12345 mV = kV

9876 kA = A

1GV= nVv



